
Underlayment Detail

(N.T.S.)

SCA175-Drip Edge

SCA711-Bottom Closure Angle

Bottom Neoprene Closure

(ISO View)

Bottom Closure Angle

(ISO View)
DATE

X:X

APP

ATAS INTERNATIONAL, INC

Allentown PA

610-395-8445

Mesa AZ

480-558-7210

B

SCALE

BY APP

KRK

12/3/2014

TITLE

DWG. NO.

MATERIAL

DATE

REV.

NO.

DESCRIPTION OF REVISION

SH. SIZE

DATE

DR

 Techo Tile Eave Detail

 

 

01
10/10/2016

Updated bottom Closure Angle Location
DMR 

DAS

*

*

ATA Guard

ATA Shield 6" Strip

(over eave trim and fastener)

ATA Shield

(1 width of roll up roof)

Trim Board

Fascia Trim

Eave Trim

Plywood Substrate

Techo Tile Panel

1 3/16"

2 1/2"

3/4"

2"

3 1/4"

Variable

Dimension

#10-12 x 2" HWH Screw

Bottom Neoprene Closure

#10-13 x 1" Wafer Head Screw

Bottom Angle Closure

1/4-14 x 7/8" HWH Screw



SCA277-Gable Trim Cap

SCA270-Channel Trim

DATE

X:X

APP

ATAS INTERNATIONAL, INC

Allentown PA

610-395-8445

Mesa AZ

480-558-7210

B

SCALE

BY APP

KRK

12/4/2014

TITLE

DWG. NO.

MATERIAL

DATE

REV.

NO.

DESCRIPTION OF REVISION

SH. SIZE

DATE

DR

 Techo Tile Gable Detail

 

 

*

*

1"

1/2"

4 1/2"

4"

3/4"

1/2"

2 1/2"

2 7/8"

1 1/2"

1/4-14 x 7/8" HWH Screw

#10-13 x 1" Wafer Head Screw

Appropriate Fastener

Gable Trim Cap

Channel Trim

ATA Guard

ATA Shield

(1 width of roll)

Plywood Substrate

Techo Tile Panel



SCA980-Counterflashing

SCA500-Headwall Trim

SCA710-Top Closure Angle

Top Closure Angle

(ISO View)

Top Neoprene Closure

(ISO View)

DATE

X:X

APP

ATAS INTERNATIONAL, INC

Allentown PA

610-395-8445

Mesa AZ

480-558-7210

B

SCALE

BY APP

KRK

12/4/2014

TITLE

DWG. NO.

MATERIAL

DATE

REV.

NO.

DESCRIPTION OF REVISION

SH. SIZE

DATE

DR

 Techo Tile Headwall Detail

 

 

*

*

*

1 3/16"

2 1/2"

3/4"

2 1/2"

1/2"

3/8"

4"

1/2"

3 1/2"

Variable

Dimension

Wall

Appropriate Sealant

Appropriate Anchor Fastener

Counterflashing (anchor where appropriate)

Headwall Trim

Top Closure Angle

1/4-14 x 7/8" HWH Screw

Techo Tile Panel

ATA Guard

Plywood Substrate

Top Neoprene Closure

#10-16 x 1" Wafer Head Fastener



SCA372-Hip Base

SCA371-Hip Closure Angle

SCA370-Barrel Hip Cap

(Standard)

SCA303-Barrel Hip Cap

(Optional)

DATE

X:X

APP

ATAS INTERNATIONAL, INC

Allentown PA

610-395-8445

Mesa AZ

480-558-7210

B

SCALE

BY APP

KRK

12/5/2014

TITLE

DWG. NO.

MATERIAL

DATE

REV.

NO.

DESCRIPTION OF REVISION

SH. SIZE

DATE

DR

Techo Tile Hip Detail

 

 

*

*

*

4

3

"

 

C

o

v

e

r

a

g

e

2 1/2"

2 1/2"

1/2"

7 3/4"

Variable

Dimension

1/2"

1/2" 4 3/4"

Variable

Dimension

Barrel Hip Cap

1/4-14 x 7/8" HWH Screw

Hip Closure Angle

Hip Base

Hip Base Clip

SCT Panel

ATA Guard

Plywood Substrate

#10-16 x 1" Wafer Head Fastener



SCA710-Top Closure Angle

SCA370-Barrel Hip Cap

(Standard)

SCA303-Barrel Hip Cap

(Optional)

Top Closure Angle

(ISO View)

Top Neoprene Closure

(ISO View)

DATE

X:X

APP

ATAS INTERNATIONAL, INC

Allentown PA

610-395-8445

Mesa AZ

480-558-7210

B

SCALE

BY APP

KRK

12/5/2014

TITLE

DWG. NO.

MATERIAL

DATE

REV.

NO.

DESCRIPTION OF REVISION

SH. SIZE

DATE

DR

Techo Tile Ridge Detail

 

 

*

*

4

3

"

 

C

o

v

e

r

a

g

e

1 3/16"

2 1/2"

1/2"

4 3/4"

1/2"

Variable

Dimension

Barrel Ridge Cap

1/4-14 x 7/8" HWH Screw

Top Closure Angle

Top Neoprene Closure

ATA-Guard

Plywood Substrate

Techo Tile Panel

#10 x 1" Wafer Head Fastener

#10 x 1" Wafer Head Screw



Top Closure Angle

(ISO View)

Top Neoprene Closure

(ISO View)

Shed Ridge Cap

SCA342: 3:12-4:12 Slope

D1=6" / D2=6 1/4"

SCA343: 4:12-8:12 Slope

D1=7" / D2=6 1/2"

SCA344: 8:12-12:12 Slope

D1=8" / D2=6 3/4"

SCA710-Top Closure Angle

DATE

X:X

APP

ATAS INTERNATIONAL, INC

Allentown PA

610-395-8445

Mesa AZ

480-558-7210

B

SCALE

BY APP

KRK

12/5/2014

TITLE

DWG. NO.

MATERIAL

DATE

REV.

NO.

DESCRIPTION OF REVISION

SH. SIZE

DATE

DR

Techo Tile Shed Ridge Detail

 

 

*

*

1/2"

13/16"

D2

D1

1/2"

2 1/2"

1 3/16"

Shed Ridge Cap

1/4-14 x 7/8" HWH Screw

Top Neoprene Closure

Top Closure Angle

Techo Tile Panel

ATA Guard

Plywood Substrate

#10-16 x 1" Wafer Head Fastener

#10-13 x 1" Wafer Head Screws



SCA410-Sidewall Trim

SCA980-Counterflashing

SCA270-J Channel

DATE

X:X

APP

ATAS INTERNATIONAL, INC

Allentown PA

610-395-8445

Mesa AZ

480-558-7210

B

SCALE

BY APP

KRK

12/5/2014

TITLE

DWG. NO.

MATERIAL

DATE

REV.

NO.

DESCRIPTION OF REVISION

SH. SIZE

DATE

DR

 Techo Tile Sidewall Detail

 

 

*

*

*

4"

3 1/2"

1"

1/2"

2 1/2"

1/2"

2 7/8"

1 1/2"

3/4"

2 1/2"

1/2"

3/8"

Wall

Appropriate Sealant

ATA Guard

ATA Shield (1 width of roll)

Techo Tile Panel

Plywood Substrate

1/4-14 x 7/8" HWH Screw

Appropriate Anchor Fastener

#10-13 x 1" Wafer Head Screw

Counterflashing (anchor where appropriate)

Sidewall Trim

J Channel



SCA801-Valley Pan

SCA805-Valley Cover

DATE

X:X

APP

ATAS INTERNATIONAL, INC

Allentown PA

610-395-8445

Mesa AZ

480-558-7210

B

SCALE

BY APP

KRK

12/8/2014

TITLE

DWG. NO.

MATERIAL

DATE

REV.

NO.

DESCRIPTION OF REVISION

SH. SIZE

DATE

DR

 Techo Tile Valley Detail

 

 

*

*

9"

2 5/8"

3/4"

90°

Variable

Dimension

1/2"

5 1/2"

1/2"

1/2"

1/4-14 x 7/8" HWH Screw

Valley Cover

Valley Pan

Techo Tile Panel

Valley Clip

#10-13 x 1" Wafer Head Screw

ATA Guard

ATA Shield (1 width of roll)

Plywood Substrate




